
NAME:                   SCORE:    

 
1.		ሺ2ݔ െ 2ሻሺ3ݔ ൅ 6ሻ	 	 	 	 	 2.		ሺ4ݔ െ 2ሻଶ	
A.				6ݔଶ െ ݔ12 െ 12	 	 	 	 						A.			16ݔଶ ൅ ݔ16 ൅ 4	 	 	
B.				6ݔ	 ൅ ݔ12 ൅ 12	 	 	 	 						B.			16ݔଶ െ ݔ16 ൅ 4	
C.				6ݔଶ ൅ ݔ12 െ 12	 	 	 	 						C.			16ݔଶ ൅ ݔ8 ൅ 4	
D.			6ݔ െ ݔ12 ൅ 12		 	 	 	 						D.			16ݔଶ െ ݔ8 െ 4	
	

3.		2݉ଷሺ݉ଷ െ 2݉ଶ െ 3݉ െ 1ሻ	 	 	 ଶݏሺ6ݐݏ4		.4 ൅ ଷݏ3 ൅ 	ଶሻݐ
A.				2݉଺ െ 2݉଺ െ 6݉ସ െ 2݉ଷ	 	 	 						A.			24ݏଷݐ ൅ ݐସݏ12 ൅ 	ଷݐݏ4 	 	
B.				2݉ଽ െ 4݉଺ െ 6݉ଷ െ 2݉ଷ	 	 	 						B.			24ݏଶݐ ൅ ݐସݏ12 ൅ 	ଷݐݏ4
C.				2݉ଽ െ 2݉଺ െ 5݉ସ െ 2݉ଷ	 	 	 						C.			24ݏଷݐ ൅ ݐସݏ7 ൅ 	ଷݐݏ4
D.			2݉଺ െ 4݉ହ െ 6݉ସ െ 2݉ଷ	 	 	 						D.			24ݏଷݐ ൅ ݐସݏ12 ൅ 	ଶݐଶݏ4
	

5.		ሺ6ݔଶ െ 1ሻଶ		 	 	 	 	 6.		ሺ2ݔ ൅ 2ሻሺ2ݔ െ 3ሻ	
A.				36ݔସ ൅ 1	 	 	 	 	 						A.			4ݔଶ ൅ ݔ2 െ 6	 	 	
B.				36ݔସ െ 1	 	 	 	 	 						B.			4ݔଶ െ ݔ2 െ 6	
C.				36ݔସ ൅ ଶݔ12 ൅ 1	 	 	 	 						C.			4ݔଶ െ ݔ2 ൅ 6	
D.			36ݔସ െ ଶݔ12 ൅ 1	 	 	 	 						D.			4ݔଶ ൅ ݔ2 ൅ 6	

	
7.		ሺ3ݔሻሺ2ݔଶ ൅ ݔ3 ൅ 2ሻ	 	 	 	 ݔݒሺݒ12		.8 ൅ ݕݒ ൅ 2ሻ	
A.				6ݔଶ ൅ ݔ9 ൅ 	ݔ6 	 	 	 						A.			12ݒଶݔ ൅ ݕଶݒ12 ൅ 	ݒ24 	 	
B.				5ݔଷ ൅ ଶݔ6 ൅ 	ݔ5 	 	 	 						B.			12ݔݒ ൅ ݕݒ12 ൅ 	ݒ24
C.				6ݔଷ ൅ ଶݔ9 ൅ 	ݔ6 	 	 	 						C.			12ݒଶݔଶ ൅ ଶݕଶݒ12 ൅ 	ݒ24
D.			5ݔଶ ൅ ଶݔ6 ൅ 	ݔ6 	 	 	 						D.			12ݒଶݔ ൅ ݕଶݒ12 ൅ 	ݒ12

	
9.		ሺݔ െ 1ሻଶ	 	 	 	 	 	 10.		ሺ3ݔ ൅ 3ሻሺ2ݔ െ 2ሻ	
A.				ݔଶ െ 2	 	 	 	 	 	 						A.			6ݔଶ െ 6	 	 	
B.				ݔଶ ൅ ݔ2 െ 1	 	 	 	 	 						B.			6ݔଶ ൅ 6	
C.				ݔଶ െ ݔ2 െ 1	 	 	 	 	 						C.			6ݔଶ ൅ ݔ6 ൅ 6	
D.			ݔଶ െ ݔ2 ൅ 1	 	 	 	 	 						D.			6ݔଶ െ ݔ6 െ 6	

	
11.		4݉ሺ2݉ଶ݊ ൅݉ ൅݉݊ሻ	 	 	 	 12.		ሺݐ െ 1ሻሺ2ݐ െ 1ሻ	
A.				4݉ଶ ൅ 4݉ଶ ൅ 4݉ଶ݊	 	 	 	 						A.			2ݐଶ െ ݐ2 ൅ 1	 	 	
B.				4݉ଷ ൅ 4݉ ൅ 4݉ଶ݊	 	 	 	 						B.			2ݐଶ െ ݐ3 ൅ 1	
C.				8݉ଷ݊ ൅ 4݉ଶ ൅ 4݉ଶ݊		 	 	 						C.			2ݐଶ ൅ ݐ3 ൅ 1	
D.			8݉ଶ ൅ 4݉ ൅ 4݉ଶ݊	 	 	 	 						D.			2ݐଶ െ ݐ2 െ 1	

	
	 	
	
	

INSTRUCTIONS: Find the product of the two binomials.
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